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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021 

First Semester 

Economics – Main 

STATISTICAL METHODS – I 

(For those who joined in July 2017 onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 1 = 10 marks) 

Answer ALL questions. 

 Choose the correct answer : 

1. ¦ÒÎ Â£μ[PøÍ Chzvß Ai¨£øh°À £S¨£x  
––––––––––– GÚ¨£k®. 

 (A) Ch £S¨¦  (B) Põ»¨£S¨¦ 

 (C) £s¦ £S¨¦  (D) GxÄªÀø» 

 Classification of data on the basis of place is called 
as –––––––––––. 

 (a) Geographical classification   

 (b) Chronological classification 

 (c) Quantitative classification   

 (d) None 
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2. B´Âß AøÚzx öuõSvPøÍ²® 
Á›ø\¨£kzxÁx  

 (A) Aø©¨¦   

 (B) ~m£® 

 (C) xÀ¼¯®   

 (D) ÷©ØTÔ¯ GxÄªÀø» 

 The listing of all units in the population under 
study is  

 (a) Frame  (b) Technique  

 (c) Accuracy  (d) None of these  

3. SÊÁõP öuõhº¦øh¯ PõμoPÎ¼¸¢x ¤›ÄPÒ 
ö\´Áx  

 (A) AmhÁøn  (B) ¦ÒÎ°¯À 

 (C) ¦ÒÎ ÂÁμ®  (D) ÁøP¨£kzxuÀ 

 Grouping of related facts into classes is  

 (a) Tabulation (b) Statistics 

 (c) Data   (d) Classification 

4. ªP¨ ö£›¯ ©ØÖ® ªPa]Ô¯ ¤›ÄPÎß ÷ÁÖ£õk  
–––––––––––.  

 (A) ¤›Ä GÀø»  

 (B) ¤›Ä CøhöÁÎ 

 (C) Ãa_    

 (D) ÷©ØTÔ¯ GxÄªÀø» 
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 The difference between the upper and lower limits 
of a class is –––––––––––.  

 (a) class limits (b) class intervals 

 (c) range  (d) none of these 

5. NfdAX +=  GßÓ `zvμ® PnUQh EuÄÁx  

 (A) •Pk   (B) Cøh{ø» 

 (C) \μõ\›  (D) (B) ©ØÖ® (C) 

 Computing NfdAX +=  is to derive  

 (a) Mode   (b) Median 

 (c) Average  (d) (b) and (c) 

6. öPõkUP¨£mkÒÍ ¦ÒÎ ÂÁμ[PÎÀ 7 ÷Áø» ȭmPÎß 
T¼ öPõkUP¨£mkÒÍx. Cøh{ø» T¼ ©v¨¦ 
14,100  14150  16,080  17,120 15,200  16,160   
17,400 

 (A) 14,100  (B) 15,200 

 (C) 16,160  (D) 16,080 

 From the following data of the wages of 7 workers, 
median wage is 

 Wages (in Rs.) 14,100  14150  16,080  17,120 15,200    
 16,160  17,400 

 (a) 14,100  (b) 15,200 

 (c) 16,160  (d) 16,080 
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7. ]uÓÀ AÍøÁ Gß£x  

 (A) •Êø©¯õÚ    

 (B) J¨¥mk 

 (C) JßÖ •Êø©¯õÚ (A) J¨¥mk    

 (D) (A) ©ØÖ® (B) Cμsk® 

 Measures of dispersion is  

 (a) Absolute   

 (b) Relative 

 (c) Either Absolute or Relative    

 (d) Both (a) and (b) 

8. \μõ\›°ß ©v¨¦ 51 ©ØÖ® SD °ß ©v¨¦ 5.916 
GÛÀ ©õÖÂQuUöPÊÂß ©v¨¦  

 (A) 10.6   (B) 12.5 

 (C) 12.8   (D) 11.6 

 If the value of average is 51 and the SD is 5.916, 
then the co-efficient of variation 

 (a) 10.6   (b) 12.5 

 (c) 12.8   (d) 11.6 

9. öPõkUP¨£mkÒÍ ©v¨¦, \μõ\› = 30.46, •Pk = 
32.5, SD = 8.96, ¤ÓS ÷PõmhU öPÊÂß ©v¨¦ 

 (A) –0.228  (B) +0.822 

 (C) –0.822  (D) +0.228 
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 Given the value, Mean = 30.46, Mode = 32.5,  
SD = 8.96, then the value of co-efficient of 
skewness is 

 (a) –0.228  (b) +0.822 

 (c) –0.822  (d) +0.228 

10. JØÓ¨£øh Âø\¨ö£¸UPÀ \μõ\› G¨ö£õÊx®  
––––––––––– \©a^º £μÁ»õS®.  

 (A) 1   (B) 0 

 (C) –1   (D) 2 

 Odd moments are always ––––––––––– in 
symmetrical distribution.   

 (a) 1   (b) 0 
 (c) –1   (d) 2 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b).  

Each answer should not exceed 250 words. 

11. (A) ¦ÒÎ°¼ß Cμsk ÁøP¯õÚ ¦ÒÎ 
ÂÁμ[PøÍ ÂÍUSP.  

  Briefly explain the two categories of 
statistical data. 

Or 
 (B) Cμshõ® {ø» ¦ÒÎ Â£μ[PÎß 

£¯ß£kzx® ÷£õx PÁÚzvÀ öPõÒÍ 
÷Ási¯øÁPøÍ ÂÍUSP. 

  Explain the precautions in the use of 
secondary data. 
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12. (A) ÁøP¨£kzxuÀ ©ØÖ® 
AmhÁøn£kzxu¾US® Cøh÷¯²ÒÍ 
÷ÁÖ£õmøh öÁÎöPõnºP.  

  Bring out the difference between 
classification and tabulation. 

Or 

 (B) ÂÍUP¨£h[PÎß £À÷ÁÖ ÁøPPøÍ B´Ä 
ö\´P. 

  Analyse the different types of diagrams. 

13. (A) Cøh{ø»°ß |ßø©PøÍ B´P.  

  Examine the merits of median. 

Or 

 (B) ¤ßÁ¸® 10 ©õnÁºPÎß ©v¨ö£sPøÍ 
öPõsk •Pk PnUQkP. 

Á.Gs ö£ØÓ ©v¨ö£s Á.Gs ö£ØÓ ©v¨ö£s

1 10 6 27 

2 27 7 20 

3 24 8 18 

4 12 9 15 

5 27 10 30 
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  Calculate the mode from the following data 
of the marks obtained by 10 students : 

Sl.No. Marks obtained Sl.No. Marks obtained

1 10 6 27 

2 27 7 20 

3 24 8 18 

4 12 9 15 

5 27 10 30 

14. (A) \μõ\› Â»PÀ ©ØÖ® vmh Â»UPzøu²® 
÷ÁÖ£kzxP.  

  Distinguish between mean deviation and 
standard deviation. 

Or 
 (B) ¤ßÁ¸® öuõh¸US \μõ\› Â»Pø» 

PnUQkP. 

X : 10 11 12 13 14

f : 3 12 18 12 3 

  Calculate mean deviation from the following 
series : 

X : 10 11 12 13 14

f : 3 12 18 12 3 

15. (A) umøh AÍøÁ £ØÔ _¸UP©õP GÊxP.  

  Write brief notes on Kurtosis. 

Or 
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 (B) ¤ßÁ¸® {PÌöÁs£μÁø» öPõsk 
ö£Í¼°ß ÷PõmhU öPÊÂøÚ 
Psk¤iUPÄ®. 

J¸ Sk®£zvß SÇ¢øuPÒ 

GsoUøP : 
0 1 2 3 4 5 6

Sk®£zvß GsoUøP : 7 10 16 25 18 11 8

  Find Bowley’s coefficient of skewness for the 
following frequency distributions : 

No. of children per family : 0 1 2 3 4 5 6

No. of families : 7 10 16 25 18 11 8

PART C — (5 × 8 = 40 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) •uÀ{ø» ¦ÒÎ ÂÁμ[PøÍ ÷\P›US® 
•øÓ°øÚ ÂÁ›UPÄ®.  

  Describe the methods of collecting primary 
data.  

Or 

 (B) Cμshõ® {ø» ¦ÒÎ ÂÁμzvß ‰»õuμzøu 
ÂÁ›. 

  Explain the sources of secondary data.  
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17. (A) E¸Á¨£h® •UQ¯zxÁzøu ÂÍUQ 
vÓÚõ´P.  

  Critically explain the importance of 
pictograms. 

Or 

 (B) A ©ØÖ® B BQ¯ C¸ Sk®£zvß ©õu 
ö\»Ä ¤ßÁ¸©õÖ. 

ö\»Ä ÁøPPÒ  ö\»Ä (in Rs.) 

 Sk®£® A Sk®£® B
EnÄ 16,000 12,000
Eøh 8,000 6,000
ÁõhøP 6,000 5,000
ÂÍUS ©ØÖ® G›ö£õ¸Ò 2,000 1,000
Cuμ ö\»ÄPÒ 8,000 6,000

  The following data relate to the monthly 
expenditure (in rupees) of two families  
A and B : 

Items of Expenditure  Expenditure (in Rs.)

 Family A Family B

Food 16,000 12,000

Clothing  8,000 6,000

Rent  6,000 5,000

Light and Fuel 2,000 1,000

Miscellaneous  8,000 6,000

  Represent the above data by a suitable 
percentage diagram. 
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18. (A) ¤ßÁ¸® ¦ÒÎ ÂÁμzvØS Tmk \μõ\› 
PnUQkP. 

©v¨ö£sPÒ : 0-10 10-20 20-30 30-40 40-50 50-60

©õnÁºPÎß GsoUøP : 5 10 25 30 20 10 

  From the following data compute arithmetic 
mean : 

Marks : 0-10 10-20 20-30 30-40 40-50 50-60

No. of students : 5 10 25 30 20 10 

Or 
 (B) ¤ßÁ¸® {PÌöÁs£μÁ¾US Cøh{ø»ø¯ 

PnUQkP. 
©v¨ö£sPÒ ©õnÁºPÎß 

GsoUøP 
©v¨ö£sPÒ ©õnÁºPÎß 

GsoUøP 

45-50 10 20-25 31 

40-45 15 15-20 24 

35-40 26 10-15 15 

30-35 30 5-10 7 

25-30 42   

  Calculate the median for the following 
frequency distribution : 

Marks No. of students Marks No. of students

45-50 10 20-25 31 

40-45 15 15-20 24 

35-40 26 10-15 15 

30-35 30 5-10 7 

25-30 42   



 Code No. : 12443 B Page 11 

19. (A) ¤ßÁ¸® ¦ÒÎ ÂÁμzvØS vmh Â»UPzøu 
PõsP. 

Á¯x (RÌ) : 10 20 30 40 50 60 70 80
CÓ¢uÁºPÎß 
GsoUøP : 

15 30 53 75 100 110 115 125

  Find the standard deviation from the 
following data : 

Age under : 10 20 30 40 50 60 70 80

No. of persons dying : 15 30 53 75 100 110 115 125

Or 

 (B) X ©ØÖ® Y Âø»¨£[S R÷Ç 
öPõkUP¨£mkÒÍx CvÀ G¢u ©v¨¦ 
{ø»¯õÚx. 

X : 35 54 52 53 56 58 52 50 51 49

Y : 108 107 105 105 106 107 104 103 104 101

  From the prices of shares of X and Y below 
find out which is more stable in value : 

X : 35 54 52 53 56 58 52 50 51 49

Y : 108 107 105 105 106 107 104 103 104 101

20. (A) R÷Ç öPõkUP¨£mkÒÍ ¦ÒÎ ÂÁμzv¼¸¢x 
©õÖ ÂQuUöPÊÂøÚ PnUQkP. 

   PõºÀ ¤¯º\Ûß ÷PõmhUöPÊ = 0.42 

   Tmka \μõ\› = 86 

   Cøh{ø» = 80.  
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  From the data given below calculate the 
coefficient of variation : 

   Karl Pearsn’s coefficient of skewness = 0.42 
   Arithmetic mean = 86 
   Mean = 80 

Or 

 (B) R÷Ç öPõkUP¨£mkÒÍ ¦ÒÎ ÂÁμzvØS 
ö£Í¼°ß ÷PõmhU öPÊÂøÚ PnUQkP. 

Weight 
(in lbs) 

©õnÁºPÎß 
GsoUøP 

Weight  
(in lbs) 

©õnÁºPÎß 
GsoUøP 

Below 
100 

1 150-159 65 

100-109 14 160-169 34 
110-119 66 170-179 12 
120-129 122 180-189 5 
130-139 145 190-199 2 
140-149 121 200 and 

above 
2 

 Calculate Bowley’s coefficient of skewness for the 
data given below : 

Weight  
(in lbs) 

Number of students Weight  
(in lbs) 

Number of students 

Below 100 1 150-159 65 
100-109 14 160-169 34 
110-119 66 170-179 12 
120-129 122 180-189 5 
130-139 145 190-199 2 
140-149 121 200 and above 2 

—————— 


